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SHOistn 126 969,806,818 409 14,720
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gREddI | 9 0.2% 291,026,389 0.2%
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& ot 8l7| s M A Y 1,936,889,936 1.4% 115 2.2%
HEXEIAY 1,509,116,682 1.1% 56 1.1%

4. 71= SAE £
1712 Hal Hene 24

= (OHOH) 7t 14% 2 LEFE.

WA 7pgo] 27
m B 7|2 59 o|HE 7
7l0ld a2 B 5ol

»orlo
lo
Hu
El
i)
oin

@ EL 7|£0|H R8 (M&A, ODM 5)2 Ui Oj0|gt =2 = LIEtL} ©Ot ChZHEQl 7]

@ 7|E0|H WA 2 2to| MY FEfo| 7| £ 0| A 20| 65%=2 7P = UEHRSH £5/7|&2

7|Ep  HISE  EEA
2ZEQ0f 126 4 2 0 1 4 0 137 3%
A E 45 0 0 0 0 0 46 1%
XA 17 1 1 8 0 27 1%
C|xtel 17 6 0 0 0 1 25 0%
4ot 9 3 0 12 0%
A 3437 720 21 2 19 947 103 5249
HE 65% 14% 0% 0% 0% 18% 2%

-77-




@ xZ 37 O|HE JIERYS HTEH T BTO| 7|£E H|SO0| X2 60% =& CHOlM |XI=|n
£ A2 LEL} £ Mol 7|2 HT HY0| JX[El=s Aoz LtEHH

@ 7|&R HIF0| 37tets MYUS NTRETEO0M0|H £3| ETE= 2010'H0] H|sH 2012'30] 7|&& H|FO0|
8%P 718t 12%2 LtEtL} SLRO0FE THEHE
o o|H MatE =o|m Qo] thEto| sk Al e

0|2 cTe} STE LMo 2 nf XMETH 7|
5t

N
=
RNBIRZMO| HYS +UHE Roks RO Bolo B 4 U

2010'd 2011'd 2012'd
H|I S =R HIE HE SR HIF HE  JE= HE

) 537 41% 60 696 38% 8N 746 35% 29

BT 278 21% \gsﬂ 426 23% \38% 473 22% \%6"4
NT 103 8% ’8"’4, 128 7% ’12% 135 6% 1,7\%

ET 60 5% 4% 148 8% 8% 141 7% @

ca 17 1% 2% 33 2% 1% 81 4% 2%

ST 15 1% 1% 31 2% 2% 17 1% 1%
7|E 291 22% 22% 361 20% 12% 532 25% 10%

15
4 7] = 2 B
. E ) o) =1 it
= A
@ 7|E2R HFO AAE HlE AT EH TS BTE 30% =2 fXIst1 92X 201192 Helslns
IT7t 718 =2 HIEE %X
u 6T7|&0| ZEE|X| %2 7|EL 7|&2 2010'F 22%0M 2011'H 12%, 2012'F 10%2 ™At Sotx| 1
Qo] 6T7| &2 H|F2 MK oz F7t
W NTRIETZ|E2 ZHZ (8% — 12% — 17%), (4% — 8% — 12%)2 i} S}
45%
40%
B %
35% -
32%
30%
25% 26%
%
20% MEr
15% | 17%
12%
10% NT 10%
8%
5% - T
0%
20107|&8 0117|8588 0127|188
—T =BT NI ——E ——(T —ST —7|E}
16

—_78-




2= AW B
b EDS
4-:7]?5 = "o = L
P — | =
|71 25 24
W2 317 O|HE J|&L (A A% 7IF) IT JIS(YREN, HI|HRHO| 7}E %ol O|HE/YO
J$E J|Zo2E XA (13%)7h 7HE 52 7|28 8%

718 2%
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27102 342 7% 15,575,860,365 1%
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In-Degree Centrality but-oagtsa Centrality
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0.000000

0.000000
0.000000
0.000000
0.000000
0.000000
0.000000
0.000000
0.000000
0.000000
0.000000
0.000000
0.000000
0.000000
0.000000
13523810
19.666667
2333333
23.333333
26.000000
78.285714

0.000000 59 095239!

0.000000

13.142857

23

5. thst

8714

IJlE £449 UENT

W e, 7|2/, TSR0

24

-82-




[N
I

IPUTES

EL

7| &e| 7ol dgnt o] 2| #A =& ol

| AR

CHeRE, 7IYRY, 718540 BE Cirst FAE B30l Be

25

-83-






